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I. (10 points ) Multiple Choice Questions

1. Use the following two statements to answer this question:
I. Increasing returns to scale cause economies of scale.
1. Economies of scale cause increasing returns to scale.
(A) Both I and Il are true. (B) 1 is true and 11 is false. (C)1is false and Il is true. (D) Both I and II are false.

2. When people pay a monthly fee to have a hookup to the local telephone company’s line plus a fee for each call actually made,
we should say that the telephone company is using |
(A) limit pricing.  (B) a two-part tariff. (C) second-degree price discrimination. (D) bundling.
(E) intertemporal price discrimination.

3. Consider a perfectly competitive market for a good whose price elasticity of demand is —1.5 and price elasticity of supply is

0.5. The fraction of a specific tax that is borne by producers is:
(A)0. (B)0.25. (C)0.5. (D)0.75. (E)1.

4. The problem of adverse selection in health insurance leads to a situation in which
(A) people choose inappropriate or inadequate coverage because they do not understand the complex information in the
insurance policies.
(B) people choose too much coverage because they do not understand the complex information in the insurance policies.
(C) the percentage of the premium-paying population that is healthy rises, squeezing unhealthy individuals out of the market.

(D) the percentage of the premium-paying population that is unhealthy rises, squeezing healthy individuals out of the market.

5. Let a firm's production function be O = min {Z, K}, where Q is the level of output, L is the labor input, and X is the capital
input. Let the wage rate be w = 1 and the rental rate of capital be r= 1.  Which of the following is true?
(A) The total cost function of the firm is 7C(Q, r, w) = wrQ.
(B) The total cost function of the firm is T7C(Q, r, w) = (w + r)Q.
(C) The minimum efficient scale is zero.
(D) Both (A) and (C).
(E) Both (B) and (C).

II. (40 points) Fill in the following blanks.

1.Let a firm's production function be @ = L'”Km, where O is the level of output, L is the labor input, and X is the capital input.
Let the wage rate be w and the rental rate of capital be ».  Find the firm’s long-run input demand function for labor.

(1)

2.5am’s utility function of income is U(f) = 20/7. Sam owns and operates a farm. He is concerned that a typhoon may

wipe out his crops. If there is no typhoon, Sam’s income is $360,000. If a typhoon does occur, his income will fall to
$160,000. The probability of a typhoon is 1/20. Calculate the risk premium Sam is willing to pay for typhoon insurance.
(2)

3. Suppose a monopolist faces an inverse demand curve given by 2 = 120 -3Q. The monopolist has two plants. The first
has a marginal cost curve given by MC, = 10 + 200, and the second plant’s marginal cost curve is given by MC; = 60 + 5(%.
Find the monopolist’s profit-maximizing total output level. (3)

4.Suppose that a firm’s production function is @ = 5L, where L is the quantity of labor and Q is the output level. Suppose that
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the firm can sell all its output at a market price of $10. The firm is a monopsonist in the labor market and it faces a labor
supply curve w = 2 + 2L, where w is the wage rate. Find the monopsonist’s profit-maximizing wage. (4

5. Consider the efficient provision of a public good. Suppose that there are only two consumers in the market. The first
consumer’s inverse demand for the public good is given by P, = 100 — @ and the second consumer’s inverse demand for the
public good is given by P, = 200 ~ Q.

(a) Suppose the marginal cost of the public good is $240. What is the efficient level of production of the public good?

(5)
(b) Suppose the marginal cost of the public good is $50. What is the efficient level of production of the public good?

(6)

6. Consider a two-player noncooperative game. In this game, player 1 first decides between “out” (O) and “in” (I). Ifhe
chooses O, the game ends with a payoff vector (2, 2). If he chooses 1, then player 2 is faced with the same two choices. If
player 2 chooses O, then the game ends with a payoff vector (1, 3). If she chooses I, then player 1 has another choice to
make, between A and B. If player 1 chooses A, then the game ends with a payoff vector (4, 2}. If player 1 chooses B,
then the game ends with a payoff vector (3, 4). Assume that each player observes all the preceding play before making his
or her choice.

(a) Find all the pure-strategy Nash equilibrium. (7)
(b) Find all the pure-strategy subgame perfect equilibrium. (8)
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